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You now know the salient features of the Standard Theory of Micro-Particles.  All hadrons (strongly interacting particles) are composed from 6 quark flavors = 3 generations of doublets.  Major up ↔ down transitions between the doublets are stimulated by the weak interaction (beta decay) with the emission of W weak bosons:

The doublets of quarks:

       
          generation  I
II
III
   
   Qe
           
          flavor 


Qe = electric charge
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All leptons (particles that feel the electromagnetic and weak, but not the strong interaction) are likewise classified into 3 generations of doublets 
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By looking at how many ways the Z° can decay...its "decay width"... we know that there are at most 3 generations of  neutrinos, and therefore there are no more lepton or quark generations to be discovered.  Write a short essay on the Standard Theory in impeccable WR150 style.  Continue on the back if you need space.
